CMS179 – NextGen Question 4: submitted to JIRA 4/2/214

QUESTION: 
The measure observation of this measure requires the usage of the data element ‘Computed Value INR percent TTR’. 
1. Can you please provide us an insight on how can a LOINC code be used to capture the computed value INR percent TTR using EHR? 
1. Can you please confirm if the ‘Computed Value INR percent TTR’ can be calculated using the INR test results captured in the measure population of this measure instead of using the codified data element: ‘Computed Value INR percent TTR’ provided in the government specification ? 


[bookmark: _GoBack]
